Find procenterne

85

15 %

39 x

48 x

89 x

%=14

% = 8.5

% = 4.5

% = 35.1

% =144

% = 35.6

% =264

Dato:
52 % % =352
2 % =0.2
7 X % = 2.8
16 x % =1.6
36 x % = 10.8
29 x % = 5.8
93 x % =93
47 x % =235
6 x % = 4.8
43 x % =129
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Find procenterne

47 x70% = 32.9

66 x 60% = 39.6

3x30%=0.9

2x70%=14

85 x 10% = 8.5

15 x30% = 4.5

39 x90% = 35.1

48 x 30% = 14.4

89 x40% = 35.6

44 x 60% = 26.4

Dato: Score:

52x10% =5.2

2x10%=10.2

7x40% = 2.8

16 x 10% = 1.6

36 x 30% = 10.8

29 x20% = 5.8

93 x 10% = 9.3

47 x 50% = 23.5

6 x 80% = 4.8

43 x 30% = 12.9
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